Day 6 - Pythagorean Identity.notebook January 03, 2019

Homework 7-5

1. 4
2a.7/25 b.-24/25 c¢.-7/24  d.163.7°
3a.-5/13b.-12/13 c¢.5/12 d.202.6°

4. sin(0) = -3/5 cos(B) = -4/5 tan(0)=3/4

5. sin(B) = 5/N29 cos(B) = -2/29 tan(8)= -5/2
6. A 7.3
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Name: 4&% S Algebra 2 Homework 7-5

Period : _
9 ¥

1. Which diagram(right) represents an ongi measuring -
13z radians drawn in standard position, and ifs Hoi % | .

For #2 - 4: a. Whatissin[@)2 >< @
b. Whatis cos( 02
c. What is tan(8)?2
d. Find angle B to the nearest tenth.

2. The angle B corresponds to the angle between the positive x-axis and the line between the origin

25 25

) Ths )’/‘;’ff/Q “Th4

Y
b) 2 i Ny e
9 d_’) = sin ' (Fhs) = 16:3°
6= I§0 b3 = /637
3. The angle 6 corresponds to the angle between the positive x-axis and the line between the origin

3y

and the point (%]_—SJ on the unit circle. State your answers as an exact exprassions.

$5 QI
a“) ,5/’.-3 c)““}/;zs AN i

R R ) W 5 E M

24 7
and the point (— — | on the unif circle. Stafe your answers as an exact expressions, &ﬂ:
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(-4, -3) is a point on the terminal side of 0 in standard position. Find the exact values of sin(@),

s &)

cos{8) and fan(0).

m/&k’fﬁ’* 5‘

P(-2, §) is a point on the terminal side of 6 in standard position. Find the exact values of sin(g),

(0) and tan(8).
COs an an 2 X Z__ -‘. {@ B 6_'
Sk Il
v;
2

2 +’3
o 5 ""i‘( ?: éc{ 105 / {9) __H
Sen /) -:_;;:,;-

6. A circle centered at the origin has a radius on 10 units. The terminal side of an angle, 8,
intercepts the circle in Quadrant Il at peint C. The y-coordinate of point Cis 8. What is the

value of cos{6)7 (Regents question)

' .
7. The function f{x)=2"%" e sin{%xﬁpresenrs a damped sound wave function. What is the

average rate of change for this function on the interval [ 7. 7] to the nearest hundredth?

(Regents Question) //-' """" ™ IQ( )w 65(7) . /«H:{-,sﬂ Ao

(1) -3.44 3) -0.24 /

{2} -0.30 H 336
INEOE 9'“”) (5! ’”) 35@‘%

Y R R A
RV 7-CD AblS
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Day é: Pythagorean ldentity
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b=} ps 2
Pythagorean Theorem: O\ +\3 =C

Y >
On the unit circle: X +$ = |

Remember: x = (595(&! andy = &0(8) , 50...

Pythagorean Identity: @05(6»1* ( 90(@)&‘—‘ (
| S0 () + es”(® =1
S (B) = (sin(8)™
\coleslor




Day 6 - Pythagorean Identity.notebook January 03, 2019

sin (&
Examples: +om(@l>'— COS(%
1. Using the Pythagorean Identity, given sin(8) = .4, find | cos(8) | and |Ic:m[8 |.
A (0) *’6%159.5 =) 1c05(63\ =
((p)-kc.os(es) =\ &OQ’("—}—r?S'
30 X tos (O)=\ |+ah( )l cas(&\) I i
of tos?(0) m
cas(0) =*.8

2. Using the F'\;Thclgorecm Identity, given cos(8) =5/13 , and ongle g is in guadrant IV,
find sin(B) and tan(g).

40 (8)+ cos™(9) =1 S a
S\
S0 (8) + ("' = | nl
S\i\l(e\"- ;abS' "% n Q).A_CLA\ ﬁ;j
N <ol ©

gﬁf;& S ((: T({e\ (3? n
= x> = Nl ==
S (6 13 /> 5
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3. Using the identity sin?(8) +cos?(8) =1, if cos(B) is -0.7 and 6 is in Quad. I, A
a. Find sin(B) to the nearest TenTh
%0 (6) ;V (-)'= l Te
3036 *
o ror s rzT

40 (6) =

Ql: <0(6)
b. Find tan(B) and m<86 to the nearest tenth.

Yan (6) =520 — T 71 \&L\
|

o(':. -\"q\ﬂ’\éﬂ = 7’50

O = 180°-¥5° 7 135°)
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4. If sin?[32° +cosf[gj =1, then M equals
. 320 b. 58° c. 68° d. 72¢

5. Using the Pythagorean Identity, given cos(8) = - 0.5, and angle 8 is in quadrant Il

find sin(8) and tan(8) to the nearest tenth. — c{‘
(6D cos (&)-/ Fan(6) = == @
S (Y (-.5)>=

\}&)
Sn (m r————-_TS

& S ()= X 3=
e L gm@
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6. Draw an angle in standard position given cos(G) Gnd angle ©is in
quodmnt lll. Use the friangle to find sm[e} and ta o the meemsstanib.

P ex>=22

> . _B
I+ }:,;i s0(8) = A
S X -
& X= 43 Yoo (&)= r?:/‘lz‘;E
"
7. Using the Pythagorean ldentity, given sin(g) = - 7/10, and angle 6 is in gquadrant
_IV, find fhe exacT values of cos{@,‘l and tan(8). e
$0%(6) Y cos” (6) = SO > CQS(@):%
- A
(—- + (0 = | -7 _
10 =42 _ 1
&+ c0s*(8) K7 Fao(6) S V5
(o) = 1 = =
s (6 =% =%

4 e
8. If sin%(8)+cos2(m) =1, then 6 als
a. -6 b. /3 @ d. 1m/2
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